15-00187

FIRST AMENDMENT TO AGREEMENT (SERVICES)

WHEREAS, the City and the Contractor entered into that certain Agreement to furnish Services, dated March 19, 2014 (the "Original Agreement") (Reference Original Bid No. RFP 14-019 and Original Clerk Tracking No. 14-00024 for services associated with Decorative Street Signs: First Amendment: Revision to Article 3.1 Time and Article 4.1 Compensation ('Project'); and

WHEREAS, the parties desire to amend the Original Agreement by this First Amendment so that the Contractor will be provided revisions to the Agreement and pursuant to the terms and conditions contained herein.

NOW, THEREFORE, for good and valuable consideration, the receipt of which is hereby acknowledged, and in consideration of the mutual covenants, promises and conditions herein set forth, it is hereby acknowledged and agreed as follows:

- 1. The above recitals are true and correct and are incorporated herein by this Reference.
- 2. "Article Three, Time" shall be amended to **January 31, 2016** for the provision of additional services. The Contractor will have a 60-day Project Close-Out Time frame from the completion of the **Decorative Street Signs** Project.
- 3. "Article Four, Compensation" shall be amended to include an increase of \$696,537.00. Amount includes a \$15,000.00 City controlled contingency for the purchase and installation of additional Decorative Street Signs per **Attachment A-1 Basis of Compensation** which is attached and made a part of this First Amendment. City Council approved a Resolution and Budget Amendment on May 20, 2015 for the purchase of signs that will take place in FY15 with the installation being performed in FY16.
- 4. The terms of this First Amendment shall control and take precedence over any and all terms, provisions and conditions of Original Agreement which might vary, contradict or otherwise be inconsistent with the terms and conditions hereof. All of the other terms, provisions and conditions of Original Agreement, except as expressly amended and modified by this First Amendment, shall remain unchanged and are hereby ratified and confirmed and shall remain in full force and effect.

5. This First Amendment may be executed in any number of counterparts, each of which shall be deemed to be an original as against any part whose signature appears thereon and all of which shall together constitute one and the same instrument.

IN WITNESS WHEREOF, the City and the Contractor have caused this First Amendment to be duly executed by their duly authorized officers, all as of the day and year first above written.

first above written.	
	CITY:
ATTEST:	CITY OF NAPLES, FLORIDA
By: Tatucia Kamlosl	By: a Will Is
Patricia L. Rambosk, City Clerk	A. William Moss, City Manager
Approved as to form and legal sufficiency:	
By: Rolf D Puy Robert D. Pritt, City Attorney	
	CONTRACTOR:

Witness (Signature)

Printed

Name: BRIAN LONEITURN

CREATIVE MAILBOX DESIGNS, LLC dba CREATIVE SIGN DESIGNS

12801 Commodity Place Tampa, Florida 33626

Attention: Jamie Harden, President / CEO

By: (Signature)

Printed

Name:

Title: Presint & CEC

FEI/EIN Number: On File

(FL)

A Florida Limited Liability Company

Attachment A-1 :: Basis of Compensation Bid No. ITB 14-019 :: Decorative Street Signs

SCHEDULE OF VALUES

Decorative Sign Type	Unit Cost	Totals	COST
Stop + Double Flag	\$1,215	308	\$374,220
Stop + Single Flag	\$1,023	5.	\$5,115
Stop Sign Only	\$813	239	\$194,307
Yield Sign Only	\$813	31	\$25,203
Yield + Single Flag	\$1,023	4	\$4,092
Yield + Double Flag	\$1,215	24	\$29,160
Stock (Stop Only)	\$813	10	\$8,130
Stock (Stop Double Flag)	\$1,215	10	\$12,150
US 41 Stop Signs	\$1,215	24	\$29,160
Allowance for Unforseen Conditions and Omissions	\$15,000	1	\$15,000
		TOTAL	\$696,537

Price Schedule

	City of Naples - Price Schedule - Decorative Str	eet Sign	is (Pilot Pro	ogram)	
Item	Description of Material and/or Service	Unit	Quantity	Unit Price	Total Price
1	Furnish & Instali Decorative Stop Sign with Two Street Name Flags	EA	43	93700	40,291
	See Detail #1				19,211
2	Furnish & Install Decorative Stop Sign with One Street Name Flag	EA	2	745.00	1490.
	See Detail #2				1, 10,
3	Furnish & Install Decorative Stop Sign - No Street Name Flags	EA	14	535.9	7 490 75
	See Detail #3				7310,
4	Furnish Only Decorative Stop Sign with Two Street Name Flags	EA	2	823.	1646
	Back up inventory, no installation needed.	-		0 4121	10 101
5	Furnish Only Decorative Stop Sign - No Street Name Flags	EA	2	421.	Q47 2
	Back up inventory, no installation needed.	-			014.
	TOTAL PRICE (Add #1 through #5)	Toy		A CHARLES IN	21 704

Alt#1	Replace green street name signs with white signs/black letters.	EA	176	N/C	NC
	The City may choose a street name sign with a white reflective background rather than a green reflective background and white lettering for a better should reflect any cost increase for the substitution on all stop signs posts mountings.	appearance. T	ering his item ne	N/C Substitution	N/C FOR SLEST TIVE
Alt#2	Replace black 4" pole base standard with Base Option #1	EA	63	258.30	16,254.00
	The City may choose a slightly larger pole base as shown in Detail #5 for a litem should reflect any cost increase for the base substitution for each details.	better appeara corative stop sig	nce. This gn post.		
Alt#3	Replace 4.5" by 13" Standard Scroll with Scroll Option #1 (6" by 16")	EA	92	20.	1.840.0
	The City may choose a slightly larger scroll as detailed shown in Detail #11 This Item should reflect any cost increase for the scroll substitution for each decorative stop sign post.	for a better ap h street name	pearance. sign on		70.15
Alt#4	Replace 4.5" by 13" Standard Scroll with Scroll Option #2 (7" by 16")	EA	92	35,00	3,220.
	The City may choose a more decorative scroll as shown in Detail #12 for a litem should reflect any cost increase for the scroll substitution for each stridecorative stop sign post.	oetter appearar eet name sign o	nce. This on each		

WARRANTIES	DURATION (Years)
Welds, bolts, rivets, sign adhesive.	
Color and gloss	i
Materials, foundations and workmanship	1

Company Name CREATIVE SIGN	0851615 PIL 813 818 7100
Name and Title of individual completing	g this schedule;
JAMIE HARLEN	PASIDENT
(Printed Name)	(Title)
). 1/24/14
(Signature)	(Date)

Attachment A-1 :: Basis of Compensation Bid No. ITB 14-019 :: Decorative Street Signs

Item	Description of Material and/or Service	Unit	Qtv	Unit Price	Total Price
1	Furnish & Install Decorative Stop Sign with Two Street Name Flags	EA	43	\$ 937.00	\$ 40,291.00
2	Furnish & Install Decorative Stop Sign with One Street Name Flag	EA	2	\$ 745.00	
	Furnish & Install Decorative Stop Sign - No Street Name Flags	EA	14	\$ 535.00	
4	Furnish Only Decorative Stop Sign with Two Street Name Flags	EA	2	\$ 823.00	
	Furnish Only Decorative Stop Sign - No Street Name Flags	EA	2	\$ 421.00	
	Total Base Bid Price				\$ 51,759.00

Alt#1	Replace green street name signs with white signs/black letters.	EA	176	\$	-	\$	_
	The City may choose a street name sign with a white reflective background and bla	ck lett	ering			Ť	
	Replace black 4" pole base standard with Base Option #1	EA	63	\$	258.00	\$	16,254.00
	The City may choose a slightly larger pole base as shown in Detail #5 for a better a	ppeara	ance.			Ė	
Alt#3	Replace 4.5" by 13" Standard Scroll with Scroll Option #1 (6" by 16")	EA	92	\$	20.00	\$	1,840.00
	The City may choose a slightly larger scroll as detailed shown in Detail #11 for a be	etter				Ť	
Alt#4	Replace 4.5" by 13" Standard Scroll with Scroll Option #2 (7" by 16")	EA		\$	35.00	\$	3,220.00
	The City may choose a more decorative scroll as shown in Detail #12 for a better a	ppeara	nce.	Ė		Ť	

Item	Section #2. City of Naples - Creative Sign Designs - City Staff Preference ¹ : Description of Material and/or Service	Unit	STATE OF THE OWNER, TH		Total F	Price
1	Furnish & Install Decorative Stop Sign with Two Street Name Flags	EA	-	The second second		-
2	Furnish & Install Decorative Stop Sign with Two Street Name Flag		43	\$ 937.00	\$ 40,29	
	Furnish & Install Decorative Stop Sign - No Street Name Flags	EA EA	2	\$ 745.00		90.00
		EA	14	\$ 535.00		90.00
	Furnish Only Decorative Stop Sign with Two Street Name Flags	EA	2	\$ 823.00		<u> 16.00</u>
5	Furnish Only Decorative Stop Sign - No Street Name Flags	EA	2	\$ 421.00		12.00
	Total Base Bid Price				\$ 51,75	<u> 59.00</u>
	Alternatives			(19/FD://III)		gar.A
Alt#1	Replace green street name signs with white signs/black letters.	EA	176	\$ -	\$	-
	The City may choose a street name sign with a white reflective background and	olack lette	ering			
Alt#2	Replace black 4" pole base standard with Base Option #1	EA	63	\$ 242.00	\$ 15,24	16.00
	The City may choose a slightly larger pole base as shown in Detail #5 for a bette	r appeara	nce.			
Alt#3	Replace 4.5" by 13" Standard Scroll with Scroll Option #1 (6" by 16")	EA	92	\$ 20.00	\$ 1,84	10.00
	The City may choose a slightly larger scroll as detailed shown in Detail #11 for a	better			· · · ·	
otal C	Cost of Project With Number of Signs Bid				\$ 68,84	5.00
KIL	Additional Signage	44, 49	15		PLANES L	
otal A	mount Budgeted				\$ 75,00	00.00
Remai	ning Funds					5.00
Cost P	er Sign				+ -,	9.00
Number of Additional Signs to Stay Within Budget						0.00
	Additional Signs				\$ 5.99	5.00
	Total Cost of Project	Reservation .			\$ 74,84	

- 1. City staff's preference is to go with alternatives #1, #2 and #3
- 2. Creative Sign Designs has an additional larger alternative base that was \$16 less per sign that City staff opted to go with and is reflected in the cost of Section 2.